

## FRACTIONAL TYPE HERMITE-HADAMARD INEQUALITIES FOR CONVEX AND AG(Log)-CONVEX FUNCTIONS \*

Zijian Luo, JinRong Wang

**Abstract.** In this paper, we give a new type of integral equality involving the left-sided and the right-sided Riemann-Liouville fractional integrals. Thereafter, some new fractional Hermite-Hadamard type inequalities are presented by using the above fractional integral equality involving the concepts of convex functions and  $s$ -convex functions and AG(log)-convex functions respectively.

**Keywords:** Fractional Hermite-Hadamard inequalities, Convex functions,  $s$ -convex functions, AG(Log)-convex functions.

### 1. Introduction and preliminaries

Concerning the problem of function approximation [1, 2, 3, 4, 5], integral inequality plays a very important role. Moreover, it is well-known that integral inequality and fixed-point theory arise in differential and integral equations [6], which provide a powerful tool for obtaining the estimation of solutions of such equations [7, 8]. There is a large number of interesting results which were inspired by the classical Hermite-Hadamard inequality. One can see the contributions [9, 10, 11, 12, 13, 14, 15, 16, 17, 18, 19] and references therein.

Throughout this paper, let  $I = [a, b] \subseteq \mathbb{R}^+ \cup \{0\}$  be an interval and  $\mathbb{R}^+$  be a set of positive real numbers. First, we recall the concepts of convex and  $s$ -convex functions.

**Definition 1.1.** (see [20]) The function  $f : I \subset \mathbb{R} \rightarrow \mathbb{R}$  is said to be convex, if for every  $x, y \in I$  and  $\lambda \in [0, 1]$ , we have

$$f(\lambda x + (1 - \lambda)y) \leq \lambda f(x) + (1 - \lambda)f(y).$$

---

Received February 25, 2015; Accepted July 24, 2015

2010 *Mathematics Subject Classification.* Primary 26A33; Secondary 26A51, 26D15

\*The authors were supported in part by the National Natural Science Foundation of China (11201091).

**Definition 1.2.** (see [21]) The function  $f : I \rightarrow R$  is said to be  $s$ -convex, where  $s \in (0, 1]$ , if for every  $x, y \in I$  and  $t \in [0, 1]$ , we have

$$f(tx + (1-t)y) \leq t^s f(x) + (1-t)^s f(y).$$

Next, we recall the concept of AG(Log)-convex functions.

**Definition 1.3.** (see [22]) A function  $f : I \subseteq R^+ \rightarrow R^+$  is said to be arithmetic-geometric convex (or log-convex), if for every  $x, y \in I$  and  $\lambda \in [0, 1]$ , we have

$$f((1-\lambda)x + \lambda y) \leq f(x)^{1-\lambda} f(y)^\lambda.$$

In the sequel, we recall the concepts of the left-sided and right-sided Riemann-Liouville fractional integrals of the order  $\alpha \in R^+$ .

**Definition 1.4.** (see [23]) Let  $f \in L[a, b]$  and  $\Gamma(\cdot)$  be the Gamma function. The symbols  ${}_{RL}J_a^\alpha f$  and  ${}_{RL}J_b^\alpha f$  denote the left-sided and right-sided Riemann-Liouville fractional integrals of the order  $\alpha \in R^+$  and are defined by

$$({}_{RL}J_a^\alpha f)(x) = \frac{1}{\Gamma(\alpha)} \int_a^x (x-t)^{\alpha-1} f(t) dt, \quad (0 \leq a < x \leq b),$$

$$({}_{RL}J_b^\alpha f)(x) = \frac{1}{\Gamma(\alpha)} \int_x^b (t-x)^{\alpha-1} f(t) dt, \quad (0 \leq a \leq x < b),$$

respectively.

To end this section, we give a new type fractional integral equality which will be widely used in the sequel.

**Lemma 1.1.** Let  $f : [a, b] \rightarrow R$  be a differentiable function and  $f' \in L[a, b]$ . For any  $0 < \alpha \leq 1$  and  $0 < \lambda \leq 1$ , the following equality for fractional integrals holds:

$$\begin{aligned} & (1 + \lambda(1-\alpha)) f(b) + (1 - \lambda\alpha) f(a) + \lambda(2\alpha - 1) f((1-\alpha)b + \alpha a) \\ & - \frac{\Gamma(\alpha+1)}{(b-a)^\alpha} \left( {}_{RL}J_a^\alpha f(b) + {}_{RL}J_b^\alpha f(a) \right) \\ = & (b-a) \left\{ \int_0^{1-\alpha} (t^\alpha - (1-t)^\alpha + \alpha\lambda) f'(tb + (1-t)a) dt \right. \\ & \left. + \int_{1-\alpha}^1 (t^\alpha - (1-t)^\alpha + \lambda(1-\alpha)) f'(tb + (1-t)a) dt \right\}. \end{aligned}$$

*Proof.* It suffices to note that

$$I := \left\{ \int_0^{1-\alpha} (t^\alpha - (1-t)^\alpha + \alpha\lambda) f'(tb + (1-t)a) dt \right.$$

$$\begin{aligned}
 & \left. + \int_{1-\alpha}^1 (t^\alpha - (1-t)^\alpha + \lambda(1-\alpha)) f'(tb + (1-t)a) dt \right\} \\
 & = \int_0^{1-\alpha} \alpha\lambda f'(tb + (1-t)a) dt + \int_{1-\alpha}^1 \lambda(1-\alpha) f'(tb + (1-t)a) dt \\
 & \quad + \int_0^1 (t^\alpha - (1-t)^\alpha) f'(tb + (1-t)a) dt \\
 (1.1) \quad & := I_1 + I_2 + I_3.
 \end{aligned}$$

Integrating by parts

$$\begin{aligned}
 I_1 & := \int_0^{1-\alpha} \alpha\lambda f'(tb + (1-t)a) dt = \frac{\alpha\lambda}{b-a} \int_0^{1-\alpha} df(tb + (1-t)a) \\
 (1.2) \quad & = \frac{\alpha\lambda}{b-a} [f((1-\alpha)b + \alpha a) - f(a)],
 \end{aligned}$$

and similarly we get

$$\begin{aligned}
 I_2 & := \int_{1-\alpha}^1 \lambda(1-\alpha) f'(tb + (1-t)a) dt = \frac{\lambda(1-\alpha)}{b-a} \int_{1-\alpha}^1 df(tb + (1-t)a) \\
 (1.3) \quad & = \frac{\lambda(1-\alpha)}{b-a} [f(b) - f((1-\alpha)b + \alpha a)],
 \end{aligned}$$

$$\begin{aligned}
 I_3 & := \int_0^1 (t^\alpha - (1-t)^\alpha) f'(tb + (1-t)a) dt \\
 & = \frac{1}{b-a} \int_0^1 t^\alpha df(tb + (1-t)a) - \frac{1}{b-a} \int_0^1 (1-t)^\alpha df(tb + (1-t)a) \\
 & = \frac{f(b)}{b-a} - \frac{\alpha}{(b-a)^2} \int_a^b \left(\frac{x-a}{b-a}\right)^{\alpha-1} f(x) dx + \\
 & \quad \frac{f(a)}{b-a} - \frac{\alpha}{(b-a)^2} \int_a^b \left(\frac{b-u}{b-a}\right)^{\alpha-1} f(u) du \\
 (1.4) \quad & = \frac{f(b) + f(a)}{b-a} - \frac{\Gamma(\alpha+1)}{(b-a)^{\alpha+1}} {}_{RL}J_{a^+}^\alpha f(b) - \frac{\Gamma(\alpha+1)}{(b-a)^{\alpha+1}} {}_{RL}J_b^\alpha f(a).
 \end{aligned}$$

Submitting (1.2), (1.3) and (1.4) to (1.1), we have the result:

$$\begin{aligned}
 I & := \frac{(1 + \lambda(1-\alpha)) f(b)}{b-a} + \frac{(1 - \lambda\alpha) f(a)}{b-a} + \frac{\lambda(2\alpha - 1) f((1-\alpha)b + \alpha a)}{b-a} \\
 (1.5) \quad & - \frac{\Gamma(\alpha+1)}{(b-a)^{\alpha+1}} ({}_{RL}J_{a^+}^\alpha f(b) + {}_{RL}J_b^\alpha f(a)).
 \end{aligned}$$

Next, by multiplying both sides by  $(b-a)$  for (1.5), we have the conclusion.  $\square$

## 2. Main results for convex functions

First, we give the inequalities for convex functions.

**Theorem 2.1.** *Let  $f : [a, b] \rightarrow R$  be a differentiable. If  $|f'| \in L[a, b]$  and  $|f'|$  is a convex function. Then for any  $0 < \alpha \leq 1, 0 < \lambda \leq 1$ , the following inequalities for fractional integrals holds:*

Case 1:  $\frac{1}{2} \leq \alpha \leq 1$ .

$$\left| (1 + \lambda(1 - \alpha)) f(b) + (1 - \lambda\alpha) f(a) + \lambda(2\alpha - 1) f((1 - \alpha)b + \alpha a) - \frac{\Gamma(\alpha + 1)}{(b - a)^\alpha} ({}_{RL}J_{a^+}^\alpha f(b) + {}_{RL}J_b^\alpha f(a)) \right| \leq (b - a) \left\{ |f'(b)| \varphi(\alpha, \lambda) + |f'(a)| \phi(\alpha, \lambda) \right\},$$

where

$$\begin{aligned} \varphi(\alpha, \lambda) &= \frac{\alpha\lambda}{2} (1 - \alpha)(3 - 2\alpha) + \frac{1}{\alpha + 1} - \frac{1}{\alpha + 2} \left(\frac{1}{2}\right)^{\alpha+1}, \\ \phi(\alpha, \lambda) &= \frac{\alpha\lambda}{2} (1 - \alpha)(2\alpha + 1) + \frac{1}{\alpha + 1} \left(1 - \left(\frac{1}{2}\right)^\alpha\right). \end{aligned}$$

Case 2:  $0 < \alpha < \frac{1}{2}$ .

$$\left| (1 + \lambda(1 - \alpha)) f(b) + (1 - \lambda\alpha) f(a) + \lambda(2\alpha - 1) f((1 - \alpha)b + \alpha a) - \frac{\Gamma(\alpha + 1)}{(b - a)^\alpha} ({}_{RL}J_{a^+}^\alpha f(b) + {}_{RL}J_b^\alpha f(a)) \right| \leq (b - a) \left\{ |f'(b)| \varphi'(\alpha, \lambda) + |f'(a)| \phi'(\alpha, \lambda) \right\},$$

where

$$\begin{aligned} \varphi'(\alpha, \lambda) &= \frac{1}{\alpha + 1} \left(\frac{1}{\alpha + 2} - \left(\frac{1}{2}\right)^\alpha\right) + \frac{\alpha^{\alpha+1}(3\alpha + 2)}{(\alpha + 1)(\alpha + 2)} + \frac{\lambda\alpha}{2} (1 - \alpha)(3 - 2\alpha), \\ \phi'(\alpha, \lambda) &= \frac{1}{\alpha + 1} \left(1 - \left(\frac{1}{2}\right)^\alpha\right) + \frac{1 - (1 - \alpha)^{\alpha+2}}{(\alpha + 1)(\alpha + 2)} + \frac{\lambda\alpha}{2} (1 + 2\alpha)(1 - \alpha). \end{aligned}$$

*Proof.* Step 1. We check the results for Case 1.

Using Lemma 1.1,  $|f'| \in L[a, b]$  and  $|f'|$  is a convex function, we have

$$\begin{aligned} & \left| (1 + \lambda(1 - \alpha)) f(b) + (1 - \lambda\alpha) f(a) + \lambda(2\alpha - 1) f((1 - \alpha)b + \alpha a) - \frac{\Gamma(\alpha + 1)}{(b - a)^\alpha} ({}_{RL}J_{a^+}^\alpha f(b) + {}_{RL}J_b^\alpha f(a)) \right| \\ & \leq (b - a) \left\{ \int_0^{1-\alpha} (t^\alpha - (1 - t)^\alpha + \alpha\lambda) |f'(tb + (1 - t)a)| dt \right\} \end{aligned}$$

$$\begin{aligned}
 & + \left| \int_{1-\alpha}^{\frac{1}{2}} (t^\alpha - (1-t)^\alpha + \lambda(1-\alpha)) f'(tb + (1-t)a) dt \right| \\
 & + \left| \int_{\frac{1}{2}}^1 (t^\alpha - (1-t)^\alpha + \lambda(1-\alpha)) f'(tb + (1-t)a) dt \right\} \\
 \leq & (b-a) \left\{ \int_0^{1-\alpha} ((1-t)^\alpha - t^\alpha + \alpha\lambda) (t|f'(b)| + (1-t)|f'(a)|) dt \right. \\
 & + \int_{1-\alpha}^{\frac{1}{2}} ((1-t)^\alpha - t^\alpha + \lambda(1-\alpha)) (t|f'(b)| + (1-t)|f'(a)|) dt \\
 & \left. + \int_{\frac{1}{2}}^1 (t^\alpha - (1-t)^\alpha + \lambda(1-\alpha)) (t|f'(b)| + (1-t)|f'(a)|) dt \right\} \\
 (2.1) \quad & = (b-a) [K_1 + K_2 + K_3].
 \end{aligned}$$

Integrating by parts

$$\begin{aligned}
 K_1 & := \int_0^{1-\alpha} ((1-t)^\alpha - t^\alpha + \alpha\lambda) (t|f'(b)| + (1-t)|f'(a)|) dt \\
 & = |f'(b)| \left\{ \int_0^{1-\alpha} ((1-t)^\alpha t - t^{\alpha+1} + \alpha\lambda t) dt \right\} \\
 & \quad + |f'(a)| \left\{ \int_0^{1-\alpha} ((1-t)^{\alpha+1} - t^\alpha(1-t) + \alpha\lambda(1-t)) dt \right\} \\
 & = |f'(b)| \left\{ -\frac{(1-\alpha)\alpha^{\alpha+1}}{\alpha+1} + \frac{1-\alpha^{\alpha+2}}{(\alpha+1)(\alpha+2)} - \frac{(1-\alpha)^{\alpha+2}}{\alpha+2} + \frac{\lambda\alpha(1-\alpha)^2}{2} \right\} \\
 (2.2) \quad & + |f'(a)| \left\{ \frac{1-\alpha^{\alpha+2}}{\alpha+2} + \frac{\alpha(1-\alpha)^{\alpha+1}}{\alpha+1} - \frac{(1-\alpha)^{\alpha+2}}{(\alpha+1)(\alpha+2)} + \frac{\lambda\alpha(1-\alpha)^2}{2} \right\},
 \end{aligned}$$

and similarly we get

$$\begin{aligned}
 K_2 & := \int_{1-\alpha}^{\frac{1}{2}} ((1-t)^\alpha - t^\alpha + \lambda(1-\alpha)) (t|f'(b)| + (1-t)|f'(a)|) dt \\
 & = |f'(b)| \left\{ \int_{1-\alpha}^{\frac{1}{2}} ((1-t)^\alpha t - t^{\alpha+1} + \lambda(1-\alpha)t) dt \right\} \\
 & \quad + |f'(a)| \left\{ \int_{1-\alpha}^{\frac{1}{2}} ((1-t)^{\alpha+1} - t^\alpha(1-t) + \lambda(1-\alpha)(1-t)) dt \right\} \\
 & = |f'(b)| \left\{ -\frac{1}{\alpha+1} \left(\frac{1}{2}\right)^{\alpha+1} + \frac{\alpha^{\alpha+1}(2-\alpha^2)}{(\alpha+1)(\alpha+2)} + \frac{(1-\alpha)^{\alpha+2}}{\alpha+2} \right. \\
 & \quad \left. + \frac{\lambda(1-\alpha)(1-4(1-\alpha)^2)}{8} \right\} + |f'(a)| \left\{ -\frac{1}{\alpha+1} \left(\frac{1}{2}\right)^{\alpha+1} \right.
 \end{aligned}$$

$$(2.3) \quad + \frac{\alpha^2 + \alpha + 1}{(\alpha + 1)(\alpha + 2)}(1 - \alpha)^{\alpha+1} + \frac{\alpha^{\alpha+2}}{\alpha + 2} + \frac{\lambda(1 - \alpha)(1 - 4\alpha^2)}{8} \Big\}$$

and

$$(2.4) \quad \begin{aligned} K_3 &:= \int_{\frac{1}{2}}^1 (t^\alpha - (1 - t)^\alpha + \lambda(1 - \alpha)) \left( t |f'(b)| + (1 - t) |f'(a)| \right) dt \\ &= |f'(b)| \left\{ \int_{\frac{1}{2}}^1 (t^{\alpha+1} - (1 - t)^\alpha t + \lambda(1 - \alpha)t) dt \right\} \\ &\quad + |f'(a)| \left\{ \int_{\frac{1}{2}}^1 (t^\alpha(1 - t) - (1 - t)^{\alpha+1} + \lambda(1 - \alpha)(1 - t)) dt \right\} \\ &= |f'(b)| \left\{ \frac{1}{\alpha + 2} + \frac{1}{(\alpha + 1)(\alpha + 2)} \left(\frac{1}{2}\right)^{\alpha+1} + \frac{3\lambda(1 - \alpha)}{8} \right\} \\ &\quad + |f'(a)| \left\{ \frac{1}{(\alpha + 1)(\alpha + 2)} - \frac{1}{\alpha + 1} \left(\frac{1}{2}\right)^{\alpha+1} + \frac{\lambda(1 - \alpha)}{8} \right\}. \end{aligned}$$

Submitting (2.2), (2.3) and (2.4) to (2.1), we have the results for Case 1.

Step 2. We check the results for Case 2.

In fact, we have

$$(2.5) \quad \begin{aligned} &\left| (1 + \lambda(1 - \alpha))f(b) + (1 - \lambda\alpha)f(a) + \lambda(2\alpha - 1)f((1 - \alpha)b + \alpha a) \right. \\ &\quad \left. - \frac{\Gamma(\alpha + 1)}{(b - a)^\alpha} ({}_{RL}J_{a^+}^\alpha f(b) + {}_{RL}J_{b^-}^\alpha f(a)) \right| \\ &\leq (b - a) \left[ \int_0^{\frac{1}{2}} ((1 - t)^\alpha - t^\alpha + \alpha\lambda) |f'(tb + (1 - t)a)| dt \right. \\ &\quad + \int_{\frac{1}{2}}^{1-\alpha} (t^\alpha - (1 - t)^\alpha + \lambda(1 - \alpha)) |f'(tb + (1 - t)a)| dt \\ &\quad \left. + \int_{1-\alpha}^1 (t^\alpha - (1 - t)^\alpha + \lambda(1 - \alpha)) |f'(tb + (1 - t)a)| dt \right] \\ &\leq (b - a) \left[ \int_0^{\frac{1}{2}} ((1 - t)^\alpha - t^\alpha + \alpha\lambda) \left( t |f'(b)| + (1 - t) |f'(a)| \right) dt \right. \\ &\quad + \int_{\frac{1}{2}}^{1-\alpha} (t^\alpha - (1 - t)^\alpha + \lambda\alpha) \left( t |f'(b)| + (1 - t) |f'(a)| \right) dt \\ &\quad \left. + \int_{1-\alpha}^1 (t^\alpha - (1 - t)^\alpha + \lambda(1 - \alpha)) \left( t |f'(b)| + (1 - t) |f'(a)| \right) dt \right] \\ &= (b - a) [K_4 + K_5 + K_6]. \end{aligned}$$

Integrating by parts

$$\begin{aligned}
 K_4 &:= \int_0^{\frac{1}{2}} \left( (1-t)^\alpha - t^\alpha + \alpha\lambda \right) \left( t|f'(b)| + (1-t)|f'(a)| \right) dt \\
 &= |f'(b)| \int_0^{\frac{1}{2}} \left( (1-t)^\alpha t - t^{\alpha+1} + \alpha\lambda t \right) dt \\
 &\quad + |f'(a)| \int_0^{\frac{1}{2}} \left( (1-t)^{\alpha+1} - t^\alpha(1-t) + \alpha\lambda(1-t) \right) dt \\
 &= |f'(b)| \left\{ -\frac{1}{\alpha+1} \left(\frac{1}{2}\right)^{\alpha+1} + \frac{1}{(\alpha+1)(\alpha+2)} + \frac{\alpha\lambda}{8} \right\} \\
 (2.6) \quad &\quad + |f'(a)| \left\{ \frac{1}{\alpha+2} - \frac{1}{\alpha+1} \left(\frac{1}{2}\right)^{\alpha+1} + \frac{3\alpha\lambda}{8} \right\},
 \end{aligned}$$

and similarly we get

$$\begin{aligned}
 K_5 &:= \int_{\frac{1}{2}}^{1-\alpha} \left( t^\alpha - (1-t)^\alpha + \alpha\lambda \right) \left( t|f'(b)| + (1-t)|f'(a)| \right) dt \\
 &= |f'(b)| \int_{\frac{1}{2}}^{1-\alpha} \left( t^{\alpha+1} - (1-t)^\alpha t + \alpha\lambda t \right) dt \\
 &\quad + |f'(a)| \int_{\frac{1}{2}}^{1-\alpha} \left( t^\alpha(1-t) - (1-t)^{\alpha+1} + \alpha\lambda(1-t) \right) dt \\
 &= |f'(b)| \left\{ -\frac{1}{\alpha+1} \left(\frac{1}{2}\right)^{\alpha+1} + \frac{\alpha^{\alpha+1}(2-\alpha^2)}{(\alpha+1)(\alpha+2)} + \frac{(1-\alpha)^{\alpha+2}}{\alpha+2} \right. \\
 &\quad \left. + \frac{\alpha\lambda}{2} \left( (1-\alpha)^2 - \frac{1}{4} \right) \right\} + |f'(a)| \left\{ -\frac{1}{\alpha+1} \left(\frac{1}{2}\right)^{\alpha+1} + \frac{\alpha(1-\alpha)^{\alpha+1}}{\alpha+1} \right. \\
 (2.7) \quad &\quad \left. + \frac{\alpha^{\alpha+2}}{\alpha+2} + \frac{1}{(\alpha+1)(\alpha+2)} + \frac{\lambda\alpha}{2} \left( \frac{1}{4} - \alpha^2 \right) \right\}
 \end{aligned}$$

and

$$\begin{aligned}
 K_6 &:= \int_{1-\alpha}^1 \left( t^\alpha - (1-t)^\alpha + \lambda(1-\alpha) \right) \left( t|f'(b)| + (1-t)|f'(a)| \right) dt \\
 &= |f'(b)| \int_{1-\alpha}^1 \left( t^{\alpha+1} - (1-t)^\alpha t + \lambda(1-\alpha)t \right) dt \\
 &\quad + |f'(a)| \int_{1-\alpha}^1 \left( t^\alpha(1-t) - (1-t)^{\alpha+1} + \lambda(1-\alpha)(1-t) \right) dt \\
 &= |f'(b)| \left\{ \frac{1-(1-\alpha)^{\alpha+2}}{\alpha+2} + \frac{\alpha^{\alpha+1}(\alpha^2+2\alpha-2)}{(\alpha+1)(\alpha+2)} + \frac{\lambda(1-\alpha)}{2} (1-(1-\alpha)^2) \right\} \\
 (2.8) \quad &\quad + |f'(a)| \left\{ \frac{1-(1+\alpha)\alpha^{\alpha+2}}{(\alpha+1)(\alpha+2)} - \frac{(1-\alpha)^{\alpha+1}}{(\alpha+1)(\alpha+2)} (\alpha^2+\alpha+1) + \alpha^2 \frac{\lambda(1-\alpha)}{2} \right\}.
 \end{aligned}$$

Submitting (2.6), (2.7) and (2.8) to (2.5), we derive the results for Case 2.  $\square$

Secondly, we give the inequalities for  $s$ -convex functions.

**Theorem 2.2.** *Let  $f : [a, b] \rightarrow \mathbb{R}$  be a differentiable mapping on  $(a, b)$  with  $a < b$ . If  $|f'| \in L[a, b]$  and  $|f'|$  is an  $s$ -convex function, then for any  $0 < \alpha \leq 1$  and  $0 < \lambda \leq 1$  the following inequality for fractional integrals holds:*

$$\left| (1 + \lambda(1 - \alpha))f(b) + (1 - \lambda\alpha)f(a) + \lambda(2\alpha - 1)f((1 - \alpha)b + \alpha a) - \frac{\Gamma(\alpha + 1)}{(b - a)^\alpha} ({}_{RL}J_{a^+}^\alpha f(b) + {}_{RL}J_{b^-}^\alpha f(a)) \right| \leq (b - a) \left\{ \tilde{\varphi}(\alpha, \lambda) + \tilde{\phi}(\alpha, \lambda) \right\},$$

where

$$\begin{aligned} \tilde{\varphi}(\alpha, \lambda) &= \frac{\alpha\lambda}{b - a} \left| f((1 - \alpha)b + \alpha a) - f(a) \right| + \frac{\lambda(1 - \alpha)}{b - a} \left| f(b) - f((1 - \alpha)b + \alpha a) \right|, \\ \tilde{\phi}(\alpha, \lambda) &= \left( \frac{1 - (\frac{1}{2})^{\alpha p}}{\alpha p + 1} \right)^{\frac{1}{p}} \left\{ \left[ \frac{|f'(b)|^q}{8} + \frac{3|f'(a)|^q}{8} \right]^{1/q} + \left[ \frac{3|f'(b)|^q}{8} + \frac{|f'(a)|^q}{8} \right]^{1/q} \right\}, \end{aligned}$$

and  $1/p + 1/q = 1$ .

*Proof.* Using Lemma 1.1 via  $f' \in L[a, b]$  and  $|f'|$  is a convex function, we have

$$\begin{aligned} & \left| (1 + \lambda(1 - \alpha))f(b) + (1 - \lambda\alpha)f(a) + \lambda(2\alpha - 1)f((1 - \alpha)b + \alpha a) - \frac{\Gamma(\alpha + 1)}{(b - a)^\alpha} ({}_{RL}J_{a^+}^\alpha f(b) + {}_{RL}J_{b^-}^\alpha f(a)) \right| \\ & \leq (b - a) \left\{ \lambda\alpha \left| \int_0^{1-\alpha} f'(tb + (1 - t)a) dt \right| + \lambda(1 - \alpha) \left| \int_{1-\alpha}^1 f'(tb + (1 - t)a) dt \right| \right. \\ & \quad \left. + \left| \int_0^1 (t^\alpha - (1 - t)^\alpha) f'(tb + (1 - t)a) dt \right| \right\} \\ (2.9) \quad & \leq (b - a)[S_1 + S_2 + S_3]. \end{aligned}$$

Integrating by parts

$$\begin{aligned} S_1 &:= \lambda\alpha \left| \int_0^{1-\alpha} f'(tb + (1 - t)a) dt \right| = \frac{\lambda\alpha}{b - a} \left| \int_a^{(1-\alpha)b + \alpha a} f'(x) dx \right| \\ (2.10) \quad &= \frac{\alpha\lambda}{b - a} \left| f((1 - \alpha)b + \alpha a) - f(a) \right|, \end{aligned}$$

and similarly we get

$$\begin{aligned} S_2 &:= \lambda(1 - \alpha) \left| \int_{1-\alpha}^1 f'(tb + (1 - t)a) dt \right| = \frac{\lambda(1 - \alpha)}{b - a} \left| \int_{(1-\alpha)b + \alpha a}^b f'(x) dx \right| \\ (2.11) \quad &= \frac{\lambda(1 - \alpha)}{b - a} \left| f(b) - f((1 - \alpha)b + \alpha a) \right|, \end{aligned}$$



and

$$\begin{aligned}
 \mathcal{S}_3 &:= \left| \int_0^1 (t^\alpha - (1-t)^\alpha) f(tb + (1-t)a) dt \right| \\
 &\leq \left| \int_0^{\frac{1}{2}} (t^\alpha - (1-t)^\alpha) f(tb + (1-t)a) dt \right| \\
 &\quad + \left| \int_{\frac{1}{2}}^1 (t^\alpha - (1-t)^\alpha) f(tb + (1-t)a) dt \right| \\
 &\leq \left( \int_0^{\frac{1}{2}} ((1-t)^\alpha - t^{\alpha p}) dt \right)^{\frac{1}{p}} \left( \int_0^{\frac{1}{2}} |f(tb + (1-t)a)|^q dt \right)^{\frac{1}{q}} \\
 &\quad + \left( \int_{\frac{1}{2}}^1 (t^\alpha - (1-t)^{\alpha p}) dt \right)^{\frac{1}{p}} \left( \int_{\frac{1}{2}}^1 |f(tb + (1-t)a)|^q dt \right)^{\frac{1}{q}} \\
 &\leq \left( \int_0^{\frac{1}{2}} ((1-t)^{\alpha p} - t^{\alpha p}) dt \right)^{\frac{1}{p}} \left( \int_0^{\frac{1}{2}} [t|f(b)|^q + (1-t)|f(a)|^q] dt \right)^{\frac{1}{q}} \\
 &\quad + \left( \int_{\frac{1}{2}}^1 (t^{\alpha p} - (1-t)^{\alpha p}) dt \right)^{\frac{1}{p}} \left( \int_{\frac{1}{2}}^1 [t|f(b)|^q + (1-t)|f(a)|^q] dt \right)^{\frac{1}{q}} \\
 (2.12) \quad &\leq \left( \frac{1 - (\frac{1}{2})^{\alpha p}}{\alpha p + 1} \right)^{\frac{1}{p}} \left\{ \left[ \frac{|f(b)|^q}{8} + \frac{3|f(a)|^q}{8} \right]^{1/q} + \left[ \frac{3|f(b)|^q}{8} + \frac{|f(a)|^q}{8} \right]^{1/q} \right\}.
 \end{aligned}$$

Submitting (2.10), (2.11) and (2.12) to (2.9), we have the desired result.  $\square$

**Theorem 2.3.** Let  $f : [a, b] \rightarrow R$  be differentiable on  $(a, b)$  with  $a \geq 0$ ,  $f' \in L[a, b]$ . If  $|f'|$  is an  $s$ -convex function, then for any  $0 < \alpha \leq 1$  we have

$$\begin{aligned}
 &\left| (1 + \lambda(1 - \alpha)) f(b) + (1 - \lambda\alpha) f(a) + \lambda(2\alpha - 1) f((1 - \alpha)b + \alpha a) \right. \\
 &\quad \left. - \frac{\Gamma(\alpha + 1)}{(b - a)^\alpha} ({}_{RL}J_{a^+}^\alpha f(b) + {}_{RL}J_{b^-}^\alpha f(a)) \right| \\
 \leq & (b - a) \left\{ \frac{|f'(b)|}{s + 1} (\lambda(1 - \alpha)^{s+1} (2\alpha - 1) + \lambda(1 - \alpha)) + \frac{|f'(a)|}{s + 1} (\lambda\alpha^{s+1} - \lambda\alpha) \right. \\
 &\quad \left. (|f'(b)| + |f'(a)|) \left( \frac{1}{2^{s+1}(s + 1)} - \frac{1}{2^{\alpha+1}(\alpha + 1)} - \frac{1}{2^{\alpha+s}(\alpha + s + 1)} + \frac{1}{\alpha + s + 1} \right) \right\}.
 \end{aligned}$$

*Proof.* Using Lemma 1.1 via  $|f'|$  is an  $s$ -convex function, we have

$$\begin{aligned}
 &\left| (1 + \lambda(1 - \alpha)) f(b) + (1 - \lambda\alpha) f(a) + \lambda(2\alpha - 1) f((1 - \alpha)b + \alpha a) \right. \\
 &\quad \left. - \frac{\Gamma(\alpha + 1)}{(b - a)^\alpha} ({}_{RL}J_{a^+}^\alpha f(b) + {}_{RL}J_{b^-}^\alpha f(a)) \right|
 \end{aligned}$$

$$\begin{aligned}
&\leq (b-a) \left\{ \lambda\alpha \int_0^{1-\alpha} f'(tb+(1-t)a) dt + \lambda(1-\alpha) \int_{1-\alpha}^1 f'(tb+(1-t)a) dt \right. \\
&\quad \left. + \int_0^1 (t^\alpha - (1-t)^\alpha) f'(tb+(1-t)a) dt \right\} \\
&\leq (b-a) \left\{ \lambda\alpha \int_0^{1-\alpha} |f'(tb+(1-t)a)| dt + \lambda(1-\alpha) \int_{1-\alpha}^1 |f'(tb+(1-t)a)| dt \right. \\
&\quad \left. + \int_0^1 |(t^\alpha - (1-t)^\alpha) f'(tb+(1-t)a)| dt \right\} \\
(2.13) \quad &= (b-a) \{H_1 + H_2 + H_3\}.
\end{aligned}$$

Integrating by parts

$$\begin{aligned}
H_1 &:= \lambda\alpha \int_0^{1-\alpha} |f'(tb+(1-t)a)| dt \leq \lambda\alpha \int_0^{1-\alpha} (t^s |f'(b)| + (1-t)^s |f'(a)|) dt \\
(2.14) \quad &\leq \lambda\alpha \left\{ \frac{(1-\alpha)^{s+1}}{s+1} |f'(b)| - \frac{1-\alpha^{s+1}}{s+1} |f'(a)| \right\},
\end{aligned}$$

and similarly we get

$$\begin{aligned}
H_2 &:= \lambda(1-\alpha) \int_{1-\alpha}^1 |f'(tb+(1-t)a)| dt \\
&\leq \lambda(1-\alpha) \int_{1-\alpha}^1 (t^s |f'(b)| + (1-t)^s |f'(a)|) dt \\
(2.15) \quad &\leq \lambda(1-\alpha) \left\{ \frac{1-(1-\alpha)^{s+1}}{s+1} |f'(b)| + \frac{\alpha^{s+1}}{s+1} |f'(a)| \right\},
\end{aligned}$$

and

$$\begin{aligned}
H_3 &:= \int_0^1 |(t^\alpha - (1-t)^\alpha) f'(tb+(1-t)a)| dt \\
&\leq \int_0^{\frac{1}{2}} ((1-t)^\alpha - t^\alpha) (t^s |f'(b)| + (1-t)^s |f'(a)|) dt \\
&\quad + \int_{\frac{1}{2}}^1 (t^\alpha - (1-t)^\alpha) (t^s |f'(b)| + (1-t)^s |f'(a)|) dt \\
&\leq \int_0^{\frac{1}{2}} (t^s - t^{\alpha+s}) |f'(b)| dt + \int_0^{\frac{1}{2}} ((1-t)^{\alpha+s} - t^\alpha) |f'(a)| dt \\
&\quad + \int_{\frac{1}{2}}^1 (t^{\alpha+s} - (1-t)^\alpha) |f'(b)| dt + \int_{\frac{1}{2}}^1 ((1-t)^s - (1-t)^{\alpha+s}) |f'(a)| dt \\
&\leq (|f'(b)| + |f'(a)|) \left( \frac{1}{2^{s+1}(s+1)} \right)
\end{aligned}$$

$$(2.16) \quad -\frac{1}{2^{\alpha+1}(\alpha+1)} - \frac{1}{2^{\alpha+s}(\alpha+s+1)} + \frac{1}{\alpha+s+1}.$$

Submitting (2.14), (2.15) and (2.16) to (2.13), we have the result. This completes the proof.  $\square$

### 3. Main results for AG(Log)-convex functions

**Lemma 3.1.** *Let  $A > 0, B > 0, \alpha \in (0, 1)$ . The following equality holds:*

$$\int_0^{1-\alpha} B^t A^{1-t} dt = \frac{A}{\ln B - \ln A} \left[ \left( \frac{B}{A} \right)^{1-\alpha} - 1 \right].$$

*Proof.*

$$\begin{aligned} \int_0^{1-\alpha} B^t A^{1-t} dt &= A \int_0^{1-\alpha} B^t A^{-t} dt = A \int_0^{1-\alpha} \left( \frac{B}{A} \right)^t dt \\ &= \frac{A}{\ln(B) - \ln(A)} \int_0^{1-\alpha} d \left( \frac{B}{A} \right)^t = \frac{A}{\ln(B) - \ln(A)} \left[ \left( \frac{B}{A} \right)^{1-\alpha} - 1 \right]. \end{aligned}$$

$\square$

Now, we give the inequalities for AG(log)-convex functions.

**Theorem 3.1.** *Let  $f : [a, b] \rightarrow R$  be a differentiable mapping on  $(a, b)$  with  $a < b$ . If  $f' \in L[a, b]$  and  $|f'|$  are AG(log)-convex functions,  $|f'(a)| > 0, |f'(b)| > 0, |f'(a)| \neq |f'(b)|$ , then for any  $0 < \alpha \leq 1$  and  $0 < \lambda \leq 1, p > 1, q > 1, \frac{1}{p} + \frac{1}{q} = 1$ , the following inequality for fractional integrals holds:*

$$\left| (1 + \lambda(1 - \alpha)) f(b) + (1 - \lambda\alpha) f(a) + \lambda(2\alpha - 1) f((1 - \alpha)b + \alpha a) - \frac{\Gamma(\alpha + 1)}{(b - a)^\alpha} ({}_{RL}J_{a^+}^\alpha f(b) + {}_{RL}J_{b^-}^\alpha f(a)) \right| \leq (b - a) \left\{ Q_1 + Q_2 + Q_3 \right\},$$

where

$$\begin{aligned} Q_1 &= \frac{\lambda\alpha |f'(a)|}{\ln |f'(b)| - \ln |f'(a)|} \left\{ \left( \frac{|f'(b)|}{|f'(a)|} \right)^{1-\alpha} - 1 \right\}, \\ Q_2 &= \frac{\lambda(1 - \alpha) |f'(a)|}{\ln |f'(b)| - \ln |f'(a)|} \left( \frac{|f'(b)|}{|f'(a)|} \right)^{1-\alpha} \left\{ \left( \frac{|f'(b)|}{|f'(a)|} \right)^\alpha - 1 \right\}, \\ Q_3 &= \left( \frac{1 - (\frac{1}{2})^{\alpha p}}{\alpha p + 1} \right)^{\frac{1}{p}} \left\{ 1 + \left( \frac{|f'(b)|}{|f'(a)|} \right)^{\frac{1}{2}} \right\} \left[ \frac{|f'(a)|^q}{q(\ln |f'(b)| - \ln |f'(a)|)} \left( \left( \frac{|f'(b)|}{|f'(a)|} \right)^{\frac{q}{2}} - 1 \right) \right]^{\frac{1}{q}}. \end{aligned}$$

*Proof.* Using Lemma 1.1 via  $f' \in L[a, b]$  and  $|f'|$  is an AG(log)-convex function, we have

$$\begin{aligned}
 & \left| (1 + \lambda(1 - \alpha))f(b) + (1 - \lambda\alpha)f(a) + \lambda(2\alpha - 1)f((1 - \alpha)b + \alpha a) \right. \\
 & \quad \left. - \frac{\Gamma(\alpha + 1)}{(b - a)^\alpha} ({}_{RL}J_{a^+}^\alpha f(b) + {}_{RL}J_{b^-}^\alpha f(a)) \right| \\
 & \leq (b - a) \left\{ \lambda\alpha \int_0^{1-\alpha} |f'(tb + (1 - t)a)| dt + \lambda(1 - \alpha) \int_{1-\alpha}^1 |f'(tb + (1 - t)a)| dt \right. \\
 & \quad \left. + \int_0^1 |(t^\alpha - (1 - t)^\alpha) f'(tb + (1 - t)a)| dt \right\} \\
 (3.1) \quad & \leq (b - a) \left\{ Q_1 + Q_2 + Q_3 \right\}.
 \end{aligned}$$

Integrating by parts and Using Lemma 3.1

$$\begin{aligned}
 Q_1 & := \lambda\alpha \int_0^{1-\alpha} |f'(tb + (1 - t)a)| dt \\
 & \leq \lambda\alpha \int_0^{1-\alpha} |f'(b)|^t |f'(a)|^{1-t} dt \\
 (3.2) \quad & \leq \frac{\lambda\alpha |f'(a)|}{\ln |f'(b)| - \ln |f'(a)|} \left\{ \left( \frac{|f'(b)|}{|f'(a)|} \right)^{1-\alpha} - 1 \right\},
 \end{aligned}$$

and similarly we get

$$(3.3) \quad Q_2 \leq \frac{\lambda(1 - \alpha) |f'(a)|}{\ln |f'(b)| - \ln |f'(a)|} \left( \frac{|f'(b)|}{|f'(a)|} \right)^{1-\alpha} \left\{ \left( \frac{|f'(b)|}{|f'(a)|} \right)^\alpha - 1 \right\}.$$

Next, using Hölder inequality, we have

$$\begin{aligned}
 Q_3 & := \int_0^1 |(t^\alpha - (1 - t)^\alpha) f'(tb + (1 - t)a)| dt \\
 & \leq \int_0^{\frac{1}{2}} ((1 - t)^\alpha - t^\alpha) |f'(tb + (1 - t)a)| dt \\
 & \quad + \int_{\frac{1}{2}}^1 (t^\alpha - (1 - t)^\alpha) |f'(tb + (1 - t)a)| dt \\
 & \leq \left( \int_0^{\frac{1}{2}} ((1 - t)^\alpha - t^\alpha)^p dt \right)^{\frac{1}{p}} \left( \int_0^{\frac{1}{2}} (|f'(tb + (1 - t)a)|^q dt) \right)^{\frac{1}{q}} \\
 & \quad + \left( \int_{\frac{1}{2}}^1 ((1 - t)^\alpha - t^\alpha)^p dt \right)^{\frac{1}{p}} \left( \int_{\frac{1}{2}}^1 (|f'(tb + (1 - t)a)|^q dt) \right)^{\frac{1}{q}}
 \end{aligned}$$

$$\begin{aligned}
 &\leq \left( \frac{1 - (\frac{1}{2})^{\alpha p}}{\alpha p + 1} \right)^{\frac{1}{p}} \left\{ \left( \int_0^{\frac{1}{2}} (|f'(b)|^{q\ell} |f'(a)|^{q(1-\ell)} dt \right)^{\frac{1}{q}} \right. \\
 &\quad \left. + \left( \int_{\frac{1}{2}}^1 (|f'(b)|^{q\ell} |f'(a)|^{q(1-\ell)} dt \right)^{\frac{1}{q}} \right\} \\
 &\leq \left( \frac{1 - (\frac{1}{2})^{\alpha p}}{\alpha p + 1} \right)^{\frac{1}{p}} \left\{ 1 + \left( \frac{|f'(b)|}{|f'(a)|} \right)^{\frac{1}{2}} \right\} \\
 (3.4) \quad &\left[ \frac{|f'(a)|^q}{q(\ln |f'(b)| - \ln |f'(a)|)} \left( \left( \frac{|f'(b)|}{|f'(a)|} \right)^{\frac{q}{2}} - 1 \right) \right]^{\frac{1}{q}}.
 \end{aligned}$$

Submitting (3.2), (3.3) and (3.4) to (3.1), we have the result.  $\square$

**Acknowledgements**

The authors are grateful to the referees for their careful reading of the manuscript and valuable comments. The authors also thank the editor for the help.

**REFERENCES**

1. V. N. Mishra, Some problems on approximations of functions in Banach spaces, Ph.D. Thesis (2007), Indian Institute of Technology, Roorkee, Uttarakhand, India.
2. V. N. Mishra, M. L. Mittal, U. Singh, On best approximation in locally convex space, *Vara. Jour. Math. Sci.*, 6(2006), 43-48.
3. V. N. Mishra, K. Khatri, L. N. Mishra, Deepmala, Inverse result in simultaneous approximation by Baskakov-DurrmeyerStancu operators, *Jour. Ineq. Appl.*, 1(2013), 586-597
4. V. N. Mishra, Kejal Khatri and L. N. Mishra, Approximation of Functions belonging to the generalized Lipschitz Class by  $(C^1, N_p)$  Summability Method of Conjugate Series of Fourier series, *Matematički Vesnik*, 66(2014), 155-164.
5. V. N. Mishra and Kejal Khatri, Degree of Approximation of Functions  $\tilde{f} \in H_\omega$  Class by the  $(N_p, E^1)$  Means in the Höder Metric, *International Journal of Mathematics and Mathematical Sciences*, 2014(2014), Art. ID 837408, 9 pages.
6. Deepmala, A study on fixed point theorems for nonlinear contractions and its applications, Ph.D. Thesis (2014), Pt. Ravishankar Shukla University, Raipur (Chhatisgarh), India.
7. Deepmala, H. K. Pathak, Study on existence of solutions for some nonlinear functional-integral equations with applications, *Math. Commun.*, 18(2013), 97-107.
8. Deepmala, H. K. Pathak, A study on some problems on existence of solutions for nonlinear functional-integral equations, *Acta Mathematica Scientia*, 33B(2013), 1305-1313.
9. J. Cal, J. Carcamob, L. Escauriaza, A general multidimensional Hermite-Hadamard type inequality, *J. Math. Anal. Appl.*, 356(2009), 659-663.
10. M. Avci, H. Kavurmaci, M. E. Ödemir, New inequalities of Hermite-Hadamard type via  $s$ -convex functions in the second sense with applications, *Appl. Math. Comput.*, 217(2011), 5171-5176.

11. M. E. Ödemir, M. Avci, H. Kavurmaci, Hermite-Hadamard-type inequalities via  $(\alpha, m)$ -convexity, *Comput. Math. Appl.*, 61(2011), 2614-2620.
12. S. S. Dragomir, Hermite-Hadamard's type inequalities for convex functions of self-adjoint operators in Hilbert spaces, *Linear Algebra Appl.*, 436(2012), 1503-1515.
13. M. Z. Sarikaya, E. Set, H. Yaldiz, N. Başak, Hermite-Hadamard's inequalities for fractional integrals and related fractional inequalities, *Math. Comput. Model.*, 57(2013), 2403-2407.
14. M. Bessenyei, The Hermite-Hadamard inequality in Beckenbach's setting, *J. Math. Anal. Appl.*, 364(2010), 366-383.
15. K. Tseng, S. Hwang, K. Hsu, Hadamard-type and Bullen-type inequalities for Lipschitzian functions and their applications, *Comput. Math. Appl.*, 64(2012), 651-660.
16. C. P. Niculescu, The Hermite-Hadamard inequality for log-convex functions, *Non-linear Anal.:TMA*, 75(2012), 662-669.
17. J. Wang, J. Deng, M. Fečkan, Hermite-Hadamard type inequalities for  $r$ -convex functions via Riemann-Liouville fractional integrals, *Ukrainian Math. J.*, 65(2013), 193-211.
18. R. Bai, F. Qi, B. Xi, Hermite-Hadamard type inequalities for the  $m$ - and  $(\alpha, m)$ -logarithmically convex functions, *Filomat*, 27(2013), 1-7.
19. D. Shi, B. Xi, F. Qi, Hermite-Hadamard type inequalities for Riemann-Liouville fractional integrals of  $(\alpha, m)$ -convex functions, *Fractional Differ. Calc.*, 4(2014), 33-43.
20. J. L. W. V. Jensen, On konvexe funktioner og uligheder mellem middlvaerdier, *Nyt. Tidsskr. Math. B.*, 16(1905), 49-69.
21. H. Hudzik, L. Maligranda, Some remarks on  $s$ -convex functions, *Aequationes Math.*, 48(1994), 100-111.
22. C. P. Niculescu, Convexity according to the geometric mean, *Math. Inequal. Appl.*, 3(2000), 155-167.
23. A. A. Kilbas, H. M. Srivastava, J. J. Trujillo, *Theory and applications of fractional differential equations*, Elsevier Science B.V., 2006.

Zijian Luo, JinRong Wang (corresponding author)

College of Science

Department of Mathematics

550025 Guiyang, China

zjluomath@126.com; sci.jrwang@gzu.edu.cn

JinRong Wang

College of Science

550025 Guiyang, China

wjr9668@126.com